OTtueT: Meparory no npeameTy

NMpoxopoB Bnagumup AHaTtonbeBu4, 2017/2018 yyebHbIn roa, UHdopmaTuka

YcneBaeMocTb

K CpegHuit | % % Qbuwui
nacc Mepuop Ob6yuatoLmxcs H/ Het 6ann cnes. | @ coy
Otn | Xop | YA | Heya | )" | OCB |34 | H3 | (/0 y 3H. | (%)
1-5 yeTBEpPTH | 17 7 9 1 (0 0|0 0 [0 |O 4,35 100,0 |94,12|77,18
2-a yeTtBepTb | 17 1" 6 0 |0 010 0 |0 (O 4,65 100,0 | 100,0 | 87,29
(51;1?4(*). 1) 3-9 yetBepTb | 17 10 (7 0 |0 0|0 0 [0 |O 4,59 100,0 | 100,0 | 85,18
4-a yetBepTb | 17 9 8 0 (0 0|0 0O (0 |O 4,53 100,0 | 100,0 | 83,06
log 17 10 (7 0 |0 0|0 0 [0 |O 4,59 100,0 | 100,0 | 85,18
1-9 yeTBeEpTH | 16 4 7 510 0|0 0O |0 (O 3,94 100,0 |68,75|64,25
2-a yeTtBepTb | 15 8 6 1 0 010 0O |0 (O 4 47 100,0 |93,33|81,33
(SM?@ 1) 3-a yetBepTb | 15 8 4 3 |0 010 0 [0 |O 4,33 100,0 | 80,0 |77,60
4-9 yeTBepTHb | 15 9 4 2 |0 010 0O |0 (O 4 47 100,0 | 86,67 | 81,87
log 15 6 6 3 |0 0|0 0 [0 |O 4,2 100,0 | 80,0 |72,80
1-a yetBepTb | 17 8 5 4 |0 010 0 |0 (O 4,24 100,0 | 76,47 | 74,35
2-7 yerBepTb | 17 12 |3 2 |0 0|0 0 [0 |O 4,59 100,0 | 88,24 | 86,12
?l;ﬁ"(b- 1) 3-9 yetBepTb | 17 8 6 3 |0 010 0 [0 |O 4,29 100,0 | 82,35 76,00
4-5 yeTBEpPTH | 17 8 9 0 |0 0|0 0 [0 |O 4,47 100,0 | 100,0 | 80,94
log 17 10 (5 2 |0 010 0 [0 |O 4,47 100,0 | 88,24 | 81,88
1-9 yeTBepTH | 15 4 7 4 |0 0|0 0 [0 |O 4,0 100,0 | 73,33 |66,13
2-7 yetBepThb | 15 6 9 0 |0 0|0 0 [0 |O 4.4 100,0 | 100,0 | 78,40
(7I;I?-|d)0pM.1) 3-a yetBepTb | 15 7 8 0 |0 0|0 0 [0 |O 4,47 100,0 | 100,0 | 80,80
4-51 yeTBEpPTH | 15 3 10 (2 |0 0|0 0 (0 |O 4,07 100,0 | 86,67 | 67,47
Mo 15 5 8 2 |0 0|0 0 [0 (O 4,2 100,0 | 86,67 | 72,27
1-51 yeTBepTH | 13 0 7 6 |0 0|0 0 [0 |O 3,54 100,0 | 53,85 51,08
2-a yeTtBepTb | 13 5 6 2 |0 010 0 |0 (O 4,23 100,0 | 84,62 | 73,54
(71;|6H(b0pM.1) 3-9 yetBepThb | 14 4 10 (0 |O 0|0 0 [0 |O 4,29 100,0 | 100,0 | 74,29
4-9 yeTBepThb | 14 3 6 5 |0 010 0 [0 |O 3,86 100,0 | 64,29 | 61,71
log 14 3 9 2 |0 0|0 0 [0 |O 4,07 100,0 | 85,71 |67,71
1- yeTBepThb | 15 5 5 5 |0 010 0 [0 |O 4,0 100,0 | 66,67 | 66,67
2-7 yerBepThb | 15 6 4 5 1|0 0|0 0 [0 |O 4,07 100,0 | 66,67 | 69,07
(7|;|?-Id)0pM.1) 3-51 yetBepTh | 15 8 3 4 |0 0|0 0O |0 (O 4,27 100,0 | 73,33 |75,73
4-9 yeTBepTh | 14 5 7 2 |0 0 (o0 0 |0 (O 4,21 100,0 | 85,71 |72,86
log 14 5 6 3 |0 0|0 0 [0 |O 4,14 100,0 | 78,57 | 70,86
1-a yetBepTb | 15 2 7 6 |0 010 0O |0 (O 3,73 100,0 | 60,0 |57,60
2-7 yetBepThb | 15 9 4 2 |0 010 0 [0 |O 4,47 100,0 | 86,67 | 81,87
(7I;Ir|-|d)opM.1) 3-9 yetBepTb | 15 5 10 (0 |O 010 0 [0 (O 4,33 100,0 | 100,0 | 76,00
4-51 yeTBEpPTH | 15 4 8 3 |0 0|0 0 [0 |O 4,07 100,0 | 80,0 |68,00
log 15 6 6 3 |0 010 0 [0 |O 4,2 100,0 | 80,0 |72,80
8-a 1-9 yeTBeEpTH | 13 8 4 1 (0 0|0 0 [0 |O 4,54 100,0 | 92,31 | 84,00
V. 1) 2-a yeTtBepTb | 13 4 7 2 |0 010 0 |0 (O 4,15 100,0 | 84,62 | 70,77
3-9 yetBepTb | 13 1 (2 0 |0 010 0 [0 |O 4,85 100,0 | 100,0 | 94,46




4-9 yeTBepTb | 13 7 5 110 0|0 0 [0 |O 4,46 100,0 | 92,31 81,23
log 13 6 7 0 |0 010 0 [0 |O 4,46 100,0 | 100,0 | 80,62
1-51 yeTBepTH | 15 2 10 (3 |0 0|0 0 (0 |O 3,93 100,0 | 80,0 |63,20
2-7 yetBepThb | 15 1 8 6 |0 0|0 0 [0 |O 3,67 100,0 | 60,0 |55,20
(8|/|6Hd) 1) 3-a yetBepTb | 15 4 9 2 |0 0|0 0 [0 |O 4,13 100,0 | 86,67 | 69,87
4-51 yeTBEpPTH | 15 3 10 (2 |0 0|0 0 [0 |O 4,07 100,0 | 86,67 | 67,47
lon 15 1 14 (0 |0 010 0 [0 |O 4,07 100,0 | 100,0 | 66,40
1-9 yeTBepTH | 13 1 |2 0 |0 0|0 0 [0 |O 4,85 100,0 | 100,0 | 94,46
2-a yeTtBepTb | 13 3 4 0 |0 010 0 |0 (O 4,85 100,0 | 100,0 | 94,46
?1;1?_@. 1) 3-9 yetBepTb | 13 1 |2 0 |0 0|0 0 [0 |O 4,85 100,0 | 100,0 | 94,46
4-51 yeTBEpPTH | 13 1 |2 0 |0 010 0 [0 |O 4,85 100,0 | 100,0 | 94,46
lon 13 1 |2 0 |0 010 0 [0 |O 4,85 100,0 | 100,0 | 94,46
1-9 yeTBeEpTH | 14 8 5 1 0 0|0 0O |0 (O 4.5 100,0 | 92,86 | 82,57
2-a yeTtBepTb | 14 4 7 3 10 0|0 0O |0 (O 4,07 100,0 | 78,57 | 68,29
(Sl/ercb 1) 3-9 yetBepTb | 15 12 |2 1 (0 0|0 0 [0 |O 4,73 100,0 | 93,33 90,93
4-9 yeTBepThb | 15 6 8 1 (0 010 0 [0 |O 4,33 100,0 | 93,33 | 76,53
log 15 7 6 2 |0 0|0 0 [0 |O 4,33 100,0 | 86,67 | 77,07
1-51 yeTBepTH | 1 1 0 0 |0 010 0 [0 |O 5,0 100,0 | 100,0 | 100,00
2-7 yeTBepTh | 1 1 0 0 |0 0|0 0 [0 |O 5,0 100,0 | 100,0 | 100,00
?I::)abIKOBU,eB) 3-a yetBepThb | 1 1 0 0 |0 010 0 [0 |O 5,0 100,0 | 100,0 | 100,00
4-5 yeTBeEpPTH | 1 1 0 0 |0 0|0 0 [0 |O 5,0 100,0 | 100,0 | 100,00
log 1 1 0 0 |0 010 0 [0 |O 5,0 100,0 | 100,0 | 100,00
1-9 yeTBepTH | 18 14 (4 0 |0 010 0 [0 |O 4,78 100,0 | 100,0 | 92,00
2-7 yeTBepTH | 18 14 (4 0 |0 010 0 [0 |O 4,78 100,0 | 100,0 | 92,00
?I;Iid)opmﬂ) 3-9 yeTBepTb | 18 16 |2 0 |0 0|0 0 [0 |O 4,89 100,0 | 100,0 | 96,00
4-51 yeTBEpPTH | 18 6 12 (0 |O 0|0 0 [0 |O 4,33 100,0 | 100,0 | 76,00
lon 18 12 |6 0 |0 010 0 [0 |O 4,67 100,0 | 100,0 | 88,00
1-9 yeTBEpPTH | 12 2 8 2 |0 0|0 0 [0 |O 4,0 100,0 | 83,33 |65,33
2-9 yeTBEpTHb | 12 3 7 2 |0 010 0O (0 |O 4,08 100,0 |83,33 |68,33
?l;licbopmﬂ) 3-9 yetBepThb | 12 1 7 4 |0 0|0 0 [0 |O 3,75 100,0 | 66,67 | 57,67
4-9 yeTBepTb | 12 1 8 3 |0 010 0 (0 |O 3,83 100,0 75,0 |60,00
log 12 1 9 2 |0 0|0 0 [0 |O 3,92 100,0 | 83,33 |62,33
1-9 yetBepThb | 10 1 4 5 |0 0|0 0 |0 (O 3,6 100,0 [50,0 |53,60
2-7 yerBepTb | 10 0 8 2 |0 0|0 0 [0 |O 3,8 100,0 | 80,0 |58,40
?I;I?-chopMJ) 3-1 yetBepTb | 10 0 0 10 (0 0|0 0 (0 |O 3,0 100,0 |- 36,00
4-9 yetBepTb | 10 0 1 9 |0 010 0O |0 (O 3,1 100,0 | 10,0 | 38,80
log 10 0 1 9 |0 0|0 0 [0 |O 3,1 100,0 | 10,0 | 38,80
1-a yetBepTh | 14 4 6 4 |0 010 0O |0 (O 4,0 100,0 | 71,43 | 66,29
2-a yetBepTh | 13 4 8 1 (0 0|0 0 [0 |O 4,23 100,0 | 92,31 |72,92
?I;Ir|-|q)opm.1) 3-9 yetBepTb | 13 3 3 7 |0 010 0 [0 |O 3,69 100,0 | 46,15 57,23
4-51 yeTBEpPTH | 13 1 6 6 |0 0|0 0 [0 |O 3,62 100,0 | 53,85 53,85
log 13 2 6 5 |0 010 0 [0 |O 3,77 100,0 | 61,54 | 58,77
10-a 1-ih cemecTtp | 17 13 (4 0 |0 0|0 0 [0 |O 4,76 100,0 | 100,0 | 91,53
Mheb- 1) 2-i cemectp |17 10 (7 0 |0 010 0 [0 |O 4,59 100,0 | 100,0 | 85,18




lon 17 13 |4 0 |0 0|0 0 |0 |O 4,76 100,0 | 100,0 | 91,53
1-n cemectp |17 10 |7 0 (0 0|0 0 (0 |O 4,59 100,0 | 100,0 | 85,18

(1I/IO|-|?1) 1) 2-n cemecTtp | 17 7 10 [0 |O 0|0 0O (0 |O 4,41 100,0 | 100,0| 78,82
lon 17 9 8 0 (0 0|0 0 (0 |O 4,53 100,0 | 100,0 | 83,06
1-n cemecTp | 17 8 7 2 |0 0|0 0O (0 |O 4,35 100,0 | 88,24 | 77,65

10-B N

(V. 1) 2-n cemectp |17 7 9 1 10 0|0 0 (0 |O 4,35 100,0 | 94,12 | 77,18
lon 17 7 9 1 10 0|0 0O (0 |O 4,35 100,0 | 94,12 | 77,18
1-n cemectp | 12 12 |0 0 (0 0|0 0O (0 |O 5,0 100,0 | 100,0 | 100,00

11-a .

(ndbopm.1) 2-n cemecTtp |12 10 (2 0 (O 0|0 0O (0 |O 4,83 100,0 | 100,0 | 94,00
lon 12 12 |0 0 (0 0|0 0O (0 |O 5,0 100,0 | 100,0 | 100,00
1-n cemectp | 15 7 8 0 (0 0|0 0O (0 |O 4,47 100,0 | 100,0 | 80,80

11-6 .

(Vrcbopm. 1) 2- cemecTtp | 15 2 1 2 |0 0|0 0O (0 |O 4,0 100,0 | 86,67 | 65,07
lon 15 2 13 [0 |O 0|0 0O (0 |O 4,13 100,0 | 100,0 | 68,80
1-n cemectp | 11 3 6 2 |0 0|0 0O (0 |O 4,09 100,0 | 81,82 |68,73

11-8 .

(Vndpopm.1) 2-n cemectp | 11 2 3 6 [0 0|0 0 (0 |O 3,64 100,0 | 45,45 | 55,27
lon 1 2 4 5 |0 0|0 0O (0 |O 3,73 100,0 | 54,55|57,82

LikonbHbIA nopTan
Mockoeckon obnacTti




